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01 I DNBXSEHE= 615,000 500,000 115,000
O=21Exz ZHEH 615,000
02 Al - EHIEXZSEHEZ 405,000 300,000 105,000
OZHIEx=Z A 405,000
WEHHX = 6,441,080 0 6,441,080
& 3,834,000
J| 767,000
< 767,000
Al 1,073,080
HWERES 6,441,080 0 6,441,080




AN = ZAA

HH: WRESOI2ZAA)

SHe: WHEAHAXS CEERED)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

& 3,834,000
| 767,000
= 767,000
Al 1,073,080

706 JIEFLHS H el 6,441,080 0 6,441,080
& 3,834,000
| 767,000
< 767,000
Al 1,073,080

A URERES 6,441,080 0 6,441,080
OURERE=S 6,441,080,000& 6,441,080
2 3,834,000
| 767,000
< 767,000
Al 1,073,080




